Basic Reading Comprehension

Questions 1 through 7 refer to the following passage:

In the 16th century, an age of great marine and terrestrial exploration, Ferdinand Magellan led the
first expedition to sail around the world. As a young Portuguese noble, he served the king of
Portugal, but he became involved in the quagmire of political intrigue at court and lost the king's
favor. After he was dismissed from service by the king of Portugal, he offered to serve the future
Emperor Charles V of Spain.

A papal decree of 1493 had assigned all land in the New World west of 50 degrees W longitude to
Spain and all the land east of that line to Portugal. Magellan offered to prove that the East Indies fell
under Spanish authority. On September 20, 1519, Magellan set sail from Spain with five ships. More
than a year later, one of these ships was exploring the topography of South America in search of a
water route across the continent. This ship sank, but the remaining four ships searched along the
southern peninsula of South America. Finally they found the passage they sought near 50 degrees S
latitude. Magellan named this passage the Strait of All Saints, but today it is known as the Strait of
Magellan.

One ship deserted while in this passage and returned to Spain, so fewer sailors were privileged to
gaze at that first panorama of the Pacific Ocean. Those who remained crossed the meridian now
known as the International Date Line in the early spring of 1521 after 98 days on the Pacific Ocean.
During those long days at sea, many of Magellan's men died of starvation and disease.

Later, Magellan became involved in an insular conflict in the Philippines and was killed in a tribal
battle. Only one ship and 17 sailors under the command of the Basque navigator Elcano survived to
complete the westward journey to Spain and thus prove once and for all that the world is round, with
no precipice at the edge.

1. The 16th century was an age of great exploration.

A. cosmic

B. land

C. mental

D. common man

E. None of the above



2. Magellan lost the favor of the king of Portugal when he became involved in a

political

A. entanglement

B. discussion

C. negotiation

D. problem

E. None of the above

3. The Pope divided New World lands between Spain and Portugal according to their
location on one side or the other of an imaginary geographical line 50 degrees west of

Greenwich that extends in a

A. north and south
B. crosswise

C. easterly

D. south east

E. north and west

4. One of Magellan's ships explored the
across the continent.

A. coastline

B. mountain range
C. physical features
D. islands

E. None of the above

direction.

of South America for a passage

5. Four of the ships sought a passage along a southern

A, coast

B. inland

C. body of land with water on three sides
D. border

E. Answer not available



6. The passage was found near 50 degrees S of

A. Greenwich
B. The equator
C. Spain

D. Portugal

E. Madrid

7. In the spring of 1521, the ships crossed the now called the International
Date Line.

A. imaginary circle passing through the poles
B. imaginary line parallel to the equator

C. area

D. land mass

E. Answer not available
The following passage refers to questions 8 through 14.

Marie Curie was one of the most accomplished scientists in history. Together with her husband,
Pierre, she discovered radium, an element widely used for treating cancer, and studied uranium and
other radioactive substances. Pierre and Marie's amicable collaboration later helped to unlock the

secrets of the atom.

Marie was born in 1867 in Warsaw, Poland, where her father was a professor of physics. At an early
age, she displayed a brilliant mind and a blithe personality. Her great exuberance for learning
prompted her to continue with her studies after high school. She became disgruntled, however, when
she learned that the university in Warsaw was closed to women. Determined to receive a higher
education, she defiantly left Poland and in 1891 entered the Sorbonne, a French university, where
she earned her master's degree and doctorate in physics.

Marie was fortunate to have studied at the Sorbonne with some of the greatest scientists of her day,
one of whom was Pierre Curie. Marie and Pierre were married in 1895 and spent many productive
years working together in the physics laboratory. A short time after they discovered radium, Pierre
was killed by a horse-drawn wagon in 1906. Marie was stunned by this horrible misfortune and
endured heartbreaking anguish. Despondently she recalled their close relationship and the joy that
they had shared in scientific research. The fact that she had two young daughters to raise by herself
greatly increased her distress.

Curie's feeling of desolation finally began to fade when she was asked to succeed her husband as a

physics professor at the Sorbonne. She was the first woman to be given a professorship at the world-



famous university. In 1911 she received the Nobel Prize in chemistry for isolating radium. Although
Marie Curie eventually suffered a fatal illness from her long exposure to radium, she never became
disillusioned about her work. Regardless of the consequences, she had dedicated herself to science
and to revealing the mysteries of the physical world.

8. The Curies' collaboration helped to unlock the secrets of the atom.

A, friendly

B. competitive
C. courteous
D. industrious
E. chemistry

9. Marie had a bright mind and a personality.

A. strong

B. lighthearted
C. humorous
D. strange

E. envious

10. When she learned that she could not attend the university in Warsaw, she felt

AL hopeless

B. annoyed

C. depressed

D. worried

E. None of the above

11. Marie by leaving Poland and traveling to France to enter the Sorbonne.

A. challenged authority
B. showed intelligence
C. behaved

D. was distressed

E. Answer not available



12, she remembered their joy together.

A. Dejectedly
B. Worried
C. Tearfully
D. Happily
E. Irefully

13. Her began to fade when she returned to the Sorbonne to succeed her
husband.

A. misfortune

B. anger

C. wretchedness
D. disappointment
E. ambition

14. Even though she became fatally ill from working with radium, Marie Curie was
never

A, troubled

B. worried

C. disappointed
D. sorrowful

E. disturbed

The following passage refers to questions 15 through 19.

Mount Vesuvius, a volcano located between the ancient Italian cities of Pompeii and Herculaneum,
has received much attention because of its frequent and destructive eruptions. The most famous of
these eruptions occurred in A.D. 79.

The voleano had been inactive for centuries. There was little warning of the coming eruption,
although one account unearthed by archaeologists says that a hard rain and a strong wind had
disturbed the celestial calm during the preceding night. Early the next morning, the voleano poured a
huge river of molten rock down upon Herculaneum, completely burying the city and filling the
harbor with coagulated lava.

Meanwhile, on the other side of the mountain, cinders, stone and ash rained down on Pompeii.
Sparks from the burning ash ignited the combustible rooftops quickly. Large portions of the city were
destroyed in the conflagration. Fire, however, was not the only cause of destruction. Poisonous



sulfuric gases saturated the air. These heavy gases were not buoyant in the atmosphere and therefore
sank toward the earth and suffocated people.

Over the years, excavations of Pompeii and Herculaneum have revealed a great deal about the
behavior of the voleano. By analyzing data, much as a zoologist dissects an animal specimen,
scientists have concluded that the eruption changed large portions of the area's geography. For
instance, it turned the Sarno River from its course and raised the level of the beach along the Bay of
Naples. Meteorologists studying these events have also concluded that Vesuvius caused a huge tidal
wave that affected the world's climate.

In addition to making these investigations, archaeologists have been able to study the skeletons of
victims by using distilled water to wash away the volcanic ash. By strengthening the brittle bones
with acrylic paint, scientists have been able to examine the skeletons and draw conclusions about the
diet and habits of the residents. Finally, the excavations at both Pompeii and Herculaneum have
vielded many examples of classical art, such as jewelry made of bronze, which is an alloy of copper
and tin. The eruption of Mount Vesuvius and its tragic consequences have provided everyone with a
wealth of data about the effects that voleanoes can have on the surrounding area. Today,
voleanologists can locate and predict eruptions, saving lives and preventing the destruction of other
cities and cultures.

15. Herculaneum and its harbor were buried under lava.

A. liquid

B. solid

C. flowing

D. gas

E. Answer not available

16. The poisonous gases were not in the air.

A. able to float

B. visible

C. able to evaporate
D. invisible

E. able to condense



17. Scientists analyzed data about Vesuvius in the same way that a zoologist
a specimen.

A. describes in detail

B. studies by cutting apart
C. photographs

D. chart

E. Answer not available

18. have concluded that the volcanic eruption caused a tidal wave.

A. Scientists who study oceans

B. Scientists who study atmospheric conditions
C. Scientists who study ash

D. Scientists who study animal behavior

E. Answer not available in article

19, Scientists have used water to wash away volcanic ash from the
skeletons of victims.

A. bottled
B. volcanic
C. purified
D. sea

E. fountain

Reading for the Main Idea

Read the passage below and answer question 1.

Americans have always been interested in their Presidents' wives. Many First Ladies have been
remembered because of the ways they have influenced their husbands. Other First Ladies have made
the history books on their own.

At least two First Ladies, Bess Truman and Lady Bird Johnson, made it their business to send signals
during their husbands' speeches. When Lady Bird Johnson thought her husband was talking too
long, she wrote a note and sent it up to the platform. It read, "It's time to stop!" And he did. Once
Bess Truman didn't like what her husband was saying on television, so she phoned him and said, "If
you can't talk more politely than that in public, you come right home."



Abigail Fillmore and Eliza Johnson actually tanght their husbands, Millard Fillmore and Andrew
Johnson, the thirteenth and seventeenth Presidents. A schoolteacher, Abigail eventually married her
pupil, Millard. When Eliza Johnson married Andrew, he could not read or write, so she taught him
herself.

It was First Lady Helen Taft's idea to plant the famous cherry trees in Washington, D. C. Each spring
these blossoming trees attract thousands of visitors to the nation's capital. Mrs. Taft also influenced
the male members of her family and the White House staff in a strange way: she convinced them to

shave off their beards!

Shortly after President Woodrow Wilson suffered a stroke, Edith Wilson unofficially took over most
of the duties of the Presidency until the end of her husband'’s term. Earlier, during World War I, Mrs.
Wilson had sheep brought onto the White House lawn to eat the grass. The sheep not only kept the
lawn mowed, but provided wool for an auction sponsored by the First Lady. Almost $100,000 was
raised for the Red Cross.

Dolly Madison saw to it that a magnificent painting of George Washington was not destroved during
the War of 1812. As the British marched toward Washington, D. C., she remained behind to rescue
the painting, even after the guards had left. The painting is the only object from the original White
House that was not burned.

One of the most famous First Ladies was Eleanor Roosevelt, the wife of President Franklin D,
Roosevelt. She was active in political and social causes throughout her husband's tenure in office.
After his death, she became famous for her humanitarian work in the United Nations. She made life
better for thousands of needy people around the world.

1. What is the main idea of this passage?

A. The Humanitarian work of the First Ladies is critical in American government.
B. Dolly Madison was the most influential president's wife.

C. Eleanor Roosevelt transformed the First Lady image.

D. The First Ladies are important figures in American culture.

E. The First Ladies are key supporters of the Presidents.

Read the passage below and answer question 2.

Of the many kinds of vegetables grown all over the world, which remains the favorite of young and
old alike? The potato, of course.

Perhaps vou know them as "taters," "spuds,” or "Kennebees," or as "chips,” "Idahoes,” or even
"shoestrings.” No matter, a potato by any other name is still a potato- the world's most widely grown



vegetable. As a matter of fact, if you are an average potato eater, you will put away at least 100
pounds of them each year.

That's only a tiny portion of the amount grown every yvear, however. Worldwide, the annual potato
harvest is over 6 billion bags. Each bag contains 100 pounds of potatoes, some of them as large as
four pounds each. Here in the United States, farmers fill about 400 million bags a year. That may
seem like a lot of "taters,"” but it leaves the United States a distant third among world potato growers.
Polish farmers dig up just over 800 million bags a year, while the Russians lead the world with nearly
1.5 billion bags.

The first potatoes were grown by the Incas of South America, more than 400 years ago. Their
descendants in Ecuador and Chile continue to grow the vegetable as high as 14,000 feet up in the
Andes Mountains. (That's higher than any other food will grow.) Early Spanish and English explorers
shipped potatoes to Europe, and they found their way to North America in the early 1600s.

People eat potatoes in many ways-baked, mashed, and roasted, to name just three. However, in the
United States most potatoes are devoured in the form of French fries. One fast-food chain alone sells
more than $1 billion worth of fries each year. No wonder, then, that the company pays particular
attention to the way its fries are prepared.

Before any fiv makes it to the people who eat at these popular restaurants, it must pass many
separate tests. Fail any one of these tests and the potato is rejected. To start with, only Russet
Burbank potatoes are used. These Idaho potatoes have less water content than other kinds, which
can have as much as 80 percent water. Once cut into "shoestrings” shapes, the potatoes are partly
fried in a secret blend of oils, sprayed with liquid sugar to brown them, steam dried at high heat, then
flash frozen for shipment to individual restaurants.

Before shipping, every shoestring is measured. Forty percent of a batch must be between two and
three inches long. Another 40 percent has to be over three inches. What about the 20 percent that
are left in the batch? Well, a few short fries in a bag are okay, it seems.

So, now that you realize the enormous size and value of the potato crop, you can understand why

most people agree that this part of the food industry is no "small potatoes.”
2. What is the main idea of this passage?

A. Potatoes from Ireland started the Potato Revolution.

B. The average American eats 50 pounds of potatoes a yvear.
C. French fries are made from potatoes.

D. Potatoes are a key vegetable in America.

E. The various terms for potatoes have a long history.



Advanced Reading Comprehension

Refer to the following passage for questions 1 through 5.

In 1892, the Sierra Club was formed. In 1908, an area of coastal redwood trees north of San
Francisco was established as Muir Woods National Monument. In the Sierra Nevada Mountains, a
walking trail from Yosemite Valley to Mount Whitney was dedicated in 1938. It is called the John
Muir Trail.

John Muir was born in 1838 in Scotland. His family name means "moor," which is a meadow full of
flowers and animals. John loved nature from the time he was small. He also liked to climb rocky
cliffs and walls.

When John was 11 years old, his family moved to the United States and settled in Wisconsin. John
was good with tools and soon became an inventor. He first invented a model of a sawmill. Later, he
invented an alarm clock that would cause the sleeping person to be tipped out of bed when the timer
sounded.

Muir left home at an early age. He took a 1,000-mile walk south to the Gulf of Mexico in 1867and
1868. Then he sailed for San Francisco. The city was too noisy and crowded for Muir, so he headed
inland for the Sierra Nevadas.

When Muir discovered the Yosemite Valley in the Sierra Nevadas, it was as if he had come home. He
loved the mountains, the wildlife, and the trees. He climbed the mountains and even climbed trees
during thunderstorms in order to get closer to the wind. He put forth the theory in the late 1860s
that the Yosemite Valley had been formed through the action of glaciers. People ridiculed him. Not
until 1930 was Muir's theory proven correct.

Muir began to write articles about the Yosemite Valley to tell readers about its beauty. His writing
also warned people that Yosemite was in danger from timber mining and sheep ranching interests.
In 1901, Theodore Roosevelt became president of the United States. He was interested in
conservation. Muir took the president through Yosemite, and Roosevelt helped get legislation passed
to create Yosemite National Park in 1906.

Although Muir won many conservation battles, he lost a major one. He fought to save the Hetch
Hetchy Valley, which people wanted to dam in order to provide water for San Francisco. In late 1913,
a bill was signed to dam the valley. Muir died in 1914. Some people say losing the fight to protect the
valley killed Muir.



1. What happened first?

A. The Muir family moved to the United States.
B. Muir Woods was created.

C. John Muir learned to climb rocky cliffs.

D. John Muir walked to the Gulf of Mexico.

E. John Muir visited along the east coast.

2. When did Muir invent a unique form of alarm clock?

A. While the family still lived in Scotland.

B. After he sailed to San Francisco.

C. After he traveled in Yosemite.

D. While the Muir family lived in Wisconsin.
E. After he took the long walk.

3. What did John Muir do soon after he arrived in San Francisco?

A. He ran outside during an earthquake.

B. He put forth a theory about how Yosemite was formed.
C. He headed inland for the Sierra Nevadas.

D. He began to write articles about the Sierra Nevadas.

E. He wrote short stories for the local newspaper.

4. When did John Muir meet Theodore Roosevelt?

A. Between 1901 and 1906
B. Between 1838 and 1868
C. Between 1906 and 1914
D. Between 1868 and 1901
E. Between 1906 and 1907

5. What happened last?

A. John Muir died.

B. John Muir Trail was dedicated.
C. Muir's glacial theory was proven.
D. The Sierra Club was formed.

E. John's family visited him.



Refer to the following passage for questions 6 through 9.

When using a metal file, always remember to bear down on the forward stroke only. On the return
stroke, lift the file clear of the surface to avoid dulling the instrument's teeth. Only when working on
very soft metals is it advisable to drag the file's teeth slightly on the return stroke. This helps clear
out metal pieces from between the teeth.

It is best to bear down just hard enough to keep the file cutting at all times. Too little pressure uses
only the tips of the teeth, while too much pressure can chip the teeth. Move the file in straight lines
across the surface. Use a vise to grip the work so that your hands are free to hold the file. Protect your
hands by equipping the file with a handle. Buy a wooden handle and install it by inserting the

pointed end of the file into the handle hole.

6. These directions show you how to...

A. Work with a hammer.
B. Use a file.

C. Polish a file.

D. 0il a vise.

E. Repair shop tools.

7. When using a file...

A. Always bear down on the return stroke.
B. Move it in a circle.

C. Remove the handle.

D. Press down on the forward stroke.

E. Wear protective gloves.

8. When working on soft metals, you can...

A. Remove the handle.

B. Clear metal pieces from the teeth.

C. Bear down very hard on the return stroke.
D. File in circles.

E. Strengthen them with added wood.



9. Protect your hands by...

A. Dulling the teeth.

B. Dragging the teeth on the backstroke.
C. Using a vise.

D. Installing a handle.

E. Wearing safety gloves.



Basic Reading Comprehension

1. B: "Terrestrial" means land. No choice here offers a synonym for "marine,” e.g.
nautical /naval/water/seagoing, and no other choices match either marine or terrestrial.

2. A: "Quagmire” means literally a bog or marsh, and figuratively an involved situation difficult to
escape; entanglement is a synonym, more specifically similar than the other choices.

3. A: Longitudes are imaginary geographical lines running north and south. Latitudes run east and
west. The other choices do not equal either latitude or longitude in direction.

4. C: Topography means the physical features of a land mass. It does not mean coastline (A),
mountain range (B), or islands (D).

5. C: A peninsula is a piece of land connected to the mainland by an isthmus and projecting into the
ocean such that it is surrounded on three sides by water. A peninsula is not a coast (A); it is not
found inland (B); and it is not a border (D).

6. B: The passage was found near 50 degrees S latitude. Latitudes are measured horizontally, in
relation to the equator or central imaginary line, equidistant between the North and South Poles.
Longitudes are measured vertically. Greenwich (A), the location of zero degrees longitude, adopted
as the global standard, is both incorrect and never named in the passage. Spain (C), Portugal (D),
and Madrid (E) in Spain are also incorrect.



7. A: Meridians are imaginary geographical circles intersecting the poles. Imaginary lines parallel to
the equator (B) are latitudes. The International Date Line is a specific meridian, not an area (C). It is
not a land mass (D) as it crosses both water and land.

8. A: "Amicable" means friendly. It does not mean competitive (B), i.e. oppositional, ambitious, or
aggressive; courteous (C), i.e. polite; industrious (D), i.e. hard-working; or chemistry (E): their
collaboration was in physics, but moreover, the passage specifically describes their collaboration as
"amicable."

9. B: "Blithe" means light-hearted. It does not mean strong (A), humorous (B) or funny; strange (D),
or envious (E).

10. B: "Disgruntled” means annoyed. It does not mean hopeless (A), depressed (C), or worried (D).

11. A: Marie challenged authority by going to study at the Sorbonne, because Warsaw's university
did not admit women. The passage indicates this challenge by describing her "defiantly" leaving
Poland for France; i.e., she was defying authority. The passage does not indicate she showed
intelligence (B), "behaved" (C), or was distressed (D) or upset by her move.

12. A: A synonym for "despondently” is "dejectedly,” meaning sadly, with despair or depression. The
passage indicates this by describing Curie's emotional state as one of "heartbreaking anguish" over
her husband's sudden accidental death. She is not described in this passage as worried (B) by her
memories, or recalling them tearfully (C), happily (D), or irefully (E), i.e. angrily.

13. C: The closest synonym for the "feeling of desolation” (despair) described in the passage is
wretchedness. Misfortune (A) orill fate/luck is not as close. Anger (B) is a separate emotion from
desolation. Disappointment (D) is also different from desolation, meaning feeling let-down rather
than hopeless. Ambition (E) is drive to succeed or accomplish things. It was not Curie's ambition that
faded upon returning to the Sorbonne but her depression.

14. C: "Disillusioned” means disappointed. It does not mean troubled (A), i.e. concerned or
disturbed; worried (B) or anxious; sorrowful (D) or sad; or disturbed (E).

15. B: "Coagulated” means solidified. Liquid (A) is an opposite of solid. Flowing (C) assumes a
liquid, not solid, state. Gas (D) is another opposite of solid. (Three states of matter, like volcanic
material, are liquid, solid, and gaseous.)

16. A: "Buoyant” means able to float. The passage indicates this by indicating that the gases
therefore, sank toward earth and suffocated people. Buoyant does not mean visible (B) or possible to
see. Able to float/buoyant does not mean able to evaporate (C). Evaporation means turning to vapor,



which only liquids can do. Gases are already vapors. Buoyant does not mean invisible (D) or unseen.
Able to float does not mean able to condense (E), i.e. turn from vapor to liquid.

17. B: "Dissect" means to cut apart for study. It does not mean to describe in detail (A), to
photograph (C), or to chart (D) a specimen.

18. B: Meteorologists are scientists who study atmospheric conditions, particularly weather.
Scientists who study oceans (A) are oceanographers, i.e. marine scientists. Scientists who study ash
(C) do not exist as members of a separate discipline. Climate scientists and many others concerned
with its effects study voleanic ash. Scientists who study animal behavior (D) are ethologists or animal
behaviorists and do not study ash.

19, C: Distilled water is purified water. Distilled water is not equivalent to bottled (A), volcanic (B),
sea (D), or fountain (E) water.

Reading for the Main Idea

1. D: The passage describes actions of various First Ladies as examples of their importance in
American culture. That they are key supporters of the Presidents (E) is not the main idea because the
first paragraph states some First Ladies are remembered for influencing their husbands, while others
"...have made the history books on their own." Not all First Ladies are described here as doing
humanitarian work (A). No one First Lady is singled out as most important [(B), (C)].

2: D: The main idea is the importance of potatoes in America. It never mentions Ireland or any
Potato Revolution (A). (B) is both incorrect-the passage states 100 bs., not 50-and regardless of
accuracy, is a detail, not the main idea. Readers already know French fries are made from potatoes
(C), a detail the passage assumes. Several various terms for potatoes are mentioned in the second
paragraph, but their history (E) is never discussed.

Advanced Reading Comprehension

1. C: The passage indicates that Muir liked to climb rocky cliffs as a child, and that when he was 11
years old, his family moved to the United States (A). Muir Woods was established (B) in 1908; Muir,
born in 1838, was 11 years old in 1849, and was a rock-climbing child earlier. Muir walked to the Gulf
of Mexico (D) in 1867-1868. The passage never suggests that Muir visited along the east coast (E) at
all.

2. D: Muir invented his unique alarm clock in his yvouth, between 1849 and 1867, while he lived with
his family in Wisconsin; not while they still lived in Scotland (A) until he was 11 yvears old; not after
he sailed to San Francisco (B) in 1868, at the age of 30 yvears; not after he traveled in Yosemite (C),
also in 1868; and not after he took the long walk in 1867-1868.



3. C: Soon after arriving in San Francisco, Muir headed inland for the Sierra Nevadas. The passage
never reads that he ran outside during an earthquake (A). He proposed his theory about Yosemite's
formation (B) during the late 1860s, after exploring Yosemite. After proposing his theory, Muir
began writing articles, not about the Sierra Nevadas (D) overall, but specifically about the Yosemite
Valley. The passage never indicates that he wrote short stories for the local newspaper (E).

4. A: The passage indicates that TR became President in 1901; after Muir took him through
Yosemite, Roosevelt established Yosemite National Park in 1906. Therefore, they met between these
years. 1838-1868 (B) is the first 30 vears of Muir's life, from birth to going to San Francisco. 1906-
1914 (C) would be after TR established Yosemite National Park through Muir's influence. 1868-1901
(D) is the period from Muir's arrival in San Francisco until Roosevelt's election. 1906-1907 (E) is also
too late.

5. B: John Muir Trail was dedicated in 1938 (first paragraph, last two sentences). John Muir died
(A) in 1914 (last paragraph). Muir's glacial theory was proven (C) in 1930 (fifth paragraph). The
Sierra Club was formed (D) in 1892 (first sentence).

6. B: This passage gives how-to directions for using a metal file. It does not tell how to use a hammer
{A), how to polish a file (C), how to oil a vise (D)-the directions include using a vise to hold the work
while using the file, but not how to oil the vise-or how to repair shop tools (E).

7. D: The passage instructs the reader always to bear/press down on the forward stroke of the file
only, and to lift the file rather than bearing down on the return stroke (A). (Even with very soft
metals, it instructs to drag slightly, not press down, on the return stroke.) Moving it in a circle (B)
and removing the handle (C) are never mentioned. (Buying and installing a handle are advised.)
Wearing protective gloves (E) is never mentioned.

8. B: The instructions do include how to clear the teeth of pieces of very soft metals. They do not
direct readers to remove the handle (A); to bear down very hard on the return stroke (C), which they
advise to avoid as it will dull the teeth, advising slight dragging instead; to file in circles (D), or to add
wood for strength (E).

9. D: The instructions advise users to install a handle to protect their hands rather than dulling the
teeth (A), against which they advise; dragging the teeth on the return stroke (B), which is
recommended NOT for protecting hands but for clearing the file's teeth of pieces from very soft
metals; using a vise (C), which is recommended to free the hands, not protect them; or wearing
safety gloves (E), which is never mentioned.



